Anmartbl (7273)495-231
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTtpaxaHb (8512)99-46-04
Baphayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroBelyeHck (4162)22-76-07
BpsHck (4832)59-03-52
BnapuBocTok (423)249-28-31
BnapukaBkas (8672)28-90-48
Bnagvumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89

WBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpapg (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
Koctpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
KypraHn (3522)50-90-47
Kypck (4712)77-13-04
JNuneuk (4742)52-20-81

Poccus +7(495)268-04-70

M Type of Modular Valve

Marnutoropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHck (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHui Hoeropop (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocu6upck (383)227-86-73
Hosbpbck (3496)41-32-12

Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16

Mepmb (342)205-81-47
MeTpo3aBoack (8142)55-98-37
Mckos (8112)59-10-37

PocToB-Ha-[loHy (863)308-18-15
Psa3saHb (4912)46-61-64

Camapa (846)206-03-16
CankT-lMeTepbypr (812)309-46-40
CapaHck (8342)22-96-24
CaparoB (845)249-38-78
CeBacTonons (8692)22-31-93
Cumdeponons (3652)67-13-56
CmMoneHck (4812)29-41-54

Coum (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
ChbIKTbIBKap (8212)25-95-17
Tamb6oB (4752)50-40-97

TBepb (4822)63-31-35

KazaxcrtaH +7(7172)727-132 Kuprusus +996(312)96-26-47

TonbaTTyn (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
Ynan-Ya3 (3012)59-97-51
YnbsAHoBck (8422)24-23-59
Ydha (347)229-48-12
XabapoBck (4212)92-98-04
Ye6okcapbl (8352)28-53-07
YenabuHck (351)202-03-61
YepenoBew (8202)49-02-64
Yura (3022)38-34-83
SkyTck (4112)23-90-97
SApocnaBnb (4852)69-52-93

Class| Name and Model Numbers Graphic Symbols Page |Class| Name and Model Numbers Graphic Symbols Page
P T Y X B A
R % Check Valves b
Solenoid Operated Directional Valve v (for "P-Line") A § § F-83
i E * MCP-04- %-10 .
(S-) DSHG-04- % * % -3%-52 L -
1 - Check Valves § §
PL_Tl Y X|B |A (for "T-Line") 5 § % F-83
Reducing Valves § @ MCT-04--10 P
-4 i > | |
(for "P-Line") L{WJL 74 79| ; ;
” MRP-04-%-10 3 £ | Pilot Operated Check Valves b
5 ‘ = A
;i ; S (for "A-Line") P [ | F-85
3 Reducing Valves | § MPA-04-%-10 L
= . ey NS’ W S_—O——y —_— 9 | i
(_8) (for "A-Line") L{ ad F-79 g i i
g [
%’ MRA-04-3-10 A | Pilot Operated Check Valves b .
% (for "B-Line") § § Eﬂ F-85
A Reducing Valves MPB-04-%-10 P
N N NN .
(for "B-Line") F-79 —
MRB-04-*-10 Pilot Operated Check Valves i i b
(for "A&B-Lines") B @ R8s
Throttle and Check Valves MPW-04-%-10 i i
(for "A-Line", Meter-out) ,)E F-81 -
MSA-04-X-10 3
CSD Bolt Kits
£ MBK-04- 3 -10 F-86
Throttle and Check Valves 3
(for "A-Line", Meter-in) )@ =

MSA-04-Y-10

Flow Control Valves

Throttle and Check Valves

(for "B-Line", Meter-out) EJ( E-81
MSB-04-X-10
Throttle and Check Valves
(for "B-Line", Meter-in) ﬁf( F-81

MSB-04-Y-10

Throttle and Check Valves

(for "A&B-Lines", Meter-out)

MSW-04-X-10

& B

Throttle and Check Valves

(for "A&B-Lines", Meter-in)

MSW-04-Y-10

F-81

o B

F1s
I

Y Refer to the relevant pages of catalog “E: DIRECTIONAL CONTROLS”



IReducing Modular Valves

M Specifications

Max. Operating Pressure Max. Flow *
Model Numbers MPa L/min
MR *-04-A-10 100
B 35
MR * -04-C-10 300
H

% In case of pressure adjustment range “A” “B”, the maximum
flow is limited by the pressure in the secondary side.

Use in the range of

Max. Flow Characteristics ”” below.

refer to “Secondary Side Pressure -

|

—

SRR

.... A
oo 1 LLCALACASANLY
oy

Bl Model Number Designation 'R R
MRP -04 -A -10
. . Pres. Adj. Range Design .
Series Number Valve Size MPa Number Graphic Symbols
MRP: for P-Line | poquoo gf ?;; ‘lr s
MRA: for A-Line 04 s 10
; . Modular Valves C:35-14 P TYXB A
MRB: for B-Line H: 7.25
T MRP-04
M Instructions . N - ; 7
@The drain line (Y-port) must be connected to tank directly to keep setting pressure stable. If *; ‘ J
use solenoid controlled pilot operated directional valves with these modular valves, please P TYXB A P TYXB A
select the internal drain type (T-line).
MRA-04 MRB-04

@To make pressure adjustment, loosen the lock nut and turn the pressure adjustment screw
clockwise or anti-clockwise. For an increase of pressure, turn the screw clockwise. Be sure to

re-tighten the lock nut firmly after making adjustment to the pressure.

M Typical Performance Characteristics
Hydraulic Fluid: Viscosity 35 mm?/s, Specific Gravity 0.850

Pressure Drop

Secondary Pressure vs. Max. Flow

Nominal Override Characteristics

Primary Pressure 35 MPa

0.1 300 25 MR % -04-H
? ‘A—Line 24
a B-Line o 28
g £ 200 g
Z 0.05 B ) g, MR*-04H
= ‘ [=}) e ———
=~ - 5 MR s -04-B- 2 20
MPa T T-Line L/E 100 = 19
min 8077 g
— | o MR % -04-G/H
0 50 100 150 200 250 300 MR s -04-A- @ 1;
Flow Rate L/min 0 07101520 30 40 MPa12
Secondary Pressure MPa
Pres. Drop at Spool Fully Open . MR 3 -04-B/C/H
(P-Line) . - 6
1.0 Drain Characteristics 5
g 08 / "2 /-@\ ‘ MR 3 -04-A
a o B -04-
2 06 / 2 10 " MR*-04C  [——t—F
2 = T —"1 H 5
2 04 = - o
- 2 S il
MPa g o // L/min // \—MR*-04-A 5
L— ol "‘ | 0 50 100 150 200 250 300
0 50 100 150 200 250 300 "0 5 10 15 20 25 30 35 Flow Rate  L/min

Flow Rate L/min

Differential Pressure 4P MPa

F-79



F-80

YURKEN

MRP-04
MRA-04
MRB-04
Secondary Pressure Fully Extended 279
Gauge Connection
Rc1/4 Thd. 120
3 101.6 9.2
67.5 P
| ol ©
o | _
F e FER
Fully Extended 126.5
7 Dia. Through .
2 Places Pressure Adj. Screw C\
11 Dia. Through Lock N 14 Hex. Soc. INC.
4 Places ock Nut
19 Hex. Soc. Approx. 95 ‘
— e— ‘
3 L { X j
Ry s B
9 \_
e @7
MRB-04- * - \ <
3 Dia.
View Arrow Z Two Locating Pins
Approx. Mass:-+++++ 7.4 kg
M List of Seals
MRP-04
MRA-04
MRB-04
Name of Parts Part Numbers Qty.
O-Ring OR NBR-90 P28-N 2
O-Ring OR NBR-90 P22-N 4
O-Ring OR NBR-90 P9-N 7
O-Ring OR NBR-70-1 P9-N 1

04 Series Modular Valves




IThrottIe and Check Modular Valves

B Specifications

Max. Operating Pressure Max. Flow
Model Numbers MPa L/min
MS *-04-%-10 35 300
@ Model Number Designation
MSA -04 -X -10
Series Number Vz?lve Direction of Flow Design
Size Number
MSA: For A—L.me Throttle and X: Meter-out
MSB: For B-Line Check Valv 04 Y: Metor-i 10
MSW: For A&B-Lines eck vave s vieterm

M Typical Performance Characteristics

Hydraulic Fluid: Viscosity 35 mm?/s, Specific Gravity 0.850

Pressure Drop

0.8
0.7
0.6
0.5
0.4
0.3
a
0.2

0.1

A-Line: MSB

B-Line: MSA \: F 4

)4

% Pressure Drop

P&T-Lines

_——_ o
50 100 150 200 250 300
Flow Rate L/min

0

Pressure Drop at Throttle Fully Open

1.6
1.4
o
(=)l 7
£ 1.0+ /
Z /
& 08 o
& /|
0.6
MPa /
0.4
0.2
—
0 50 100 150 200 250 300
Flow Rate L/min
Pressure Drop for Free Flow
1.6
1.4+
& \
5 12} }
£ 10
= LV
£ 08 ///
MPa 0.6 Throttle Closed L /
Wi
0.4 v
0.2 ,/ Throttle Fu‘lly Open

0 50 100 150 200 250 300

Flow Rate L/min

Flow Rate

L/min

el iy
= =T

Eoeat 12

AT

=

il
B— D =
> aﬁ"

Graphic Symbols

Meter-out Meter-in
r e PR
| Zs | 24
P TY XB A P TY 'XB A
MSA-04-X MSA-04-Y
| 41711 d |
\ i i |
P TY XB A P TY XB A
MSB-04-X MSB-04-Y
Sk »Eﬂ % *9
P TY XB A P TY 'XB A
MSW-04-X MSW-04-Y

M Instructions
@To make flow rate adjustment, loosen lock nut
and turn the flow adjustment screw clockwise or
anti-clockwise. Turn the screw anti-clockwise,
the flow rate increase. Be sure to re-tighten the
lock nut firmly after the adjustment of the flow

rate is completed

Metered Flow vs. Screw Position

AP=Differential Pressure MPa

T TIVTIY
250 |—4P=315 /, / 1/
o / L
AP=21 %// /, L1
200 . 1 7
AP=141 / »
150 [~ 4P=7.0 / /’/ T |
4P=3.0 é// ) AP=2.0
100 |- a4 v : [
‘ A \ap=10
50 e —
| \4P=05
[ [
0 1 2 3 4 5 6 7 8 9 10 11 12
L Turn of Flow Adj. Screw Ful113? gpen

F-81



YURKEN

X X
MSW-04- MSA-04-
Y Y
Fully Extended 268
Fully Extended 314 59.4
120
101.6 9.2
©
67.5 ©| S
D, \e,' N %
T@ P@"@X o Y|
B I et g~ o
%@@@ Approx. Mass......... 74kg
P SN N
¥ T 4 For other dimensions, refer to "MSW-04" in the
11 Dia. Through 51.6, Fully Extended [105.4 .
4 Places D Thronah Flow Adj. Screw § Hex. Soc, | drawing left.
Flow Adj. Screw 8 Hex. Soc. "5 — g Lock Nut (for B-Line) (X
: aces DEC. X
(for A-Line) CI\)EC 19 Hex. Soc, Approx. 95 ‘ MSB-O4- Y
Fully Extended 268
o WE[ : Fully Bxended 1054
= ¥ T N
< '\W—_ , MSW-04-X ...40 g
Two Locating Pins MSW-04-Y ...30
Approx. Mass......... 74 kg
For other dimensions, refer to "MSW-04" in the
Approx. Mass......... 7.6 kg drawing left.

M List of Seals

MSA-04
MSB-04
MSW-04

r“‘
|
U;u
-
I
1
]

Sl

I L

F-82

MSA-04-X MSA-04-Y
OMSB-04 : The flow adjustment parts is assembled on the right side.
OMSW-04 : The flow adjustment parts is assembled on the both sides.
Qty.
Item Name of Parts Part Numbers
MSA-04 | MSB-04 | MSW-04

9 O-Ring OR NBR-90 P26-N 2 2 2

10 O-Ring OR NBR-90 P22-N 4 4 4

11 O-Ring OR NBR-90 P9-N 2 2 2

12 O-Ring OR NBR-70-1 P10A-N 1 1 2

13 Back-up Ring BR JIS B 2401-4-T2-P10A 1 1 2

04 Series Modular Valves




ICheck Modular Valves

M Specifications

Max. Operating Pressure Max. Flow
Model Numbers MPa L/min
MCP-04-%-10
R — 35 300
MCT-04- % -10
@ Model Number Designation
MCP -04 -0 -10
. . |Cracking Pressure| Design
Series Number Valve Size MPa Number
MCP: Check Valve for P-Line 0: 0.035 10
04 2:02 —
MCT: Check Valve for T-Line 4: 04 10

IR
1
ONEVEE 3 B S

B Typical Performance Characteristics
Hydraulic Fluid: Viscosity 35 mm?/s, Specific Gravity 0.850

Pressure Drop

<
o

Pressure Drop

<
3

a

a

Pressure Drop for Free Flow

25

2.0

1.5

1.0

0.5

T

0

50 100 150 200 250 300
Flow Rate L/min

Pressure Drop

0.03

0.02

A

0.01

S

»

L

|_—

A&B&T-Lines (MCP)
l‘)&AK‘LB—Lines (MCT)

0 50 100 150 200 250 300
Flow Rate L/min

Graphic Symbols

1l

PTYXBA
MCP-04

It

PTYXBA
MCT-04

F-83



MCP-04 MCT-04

130
101.6 17.2
67.5

D O = O
I- 1
DO+
T\/‘P\‘/‘ X 7}
D0
D+ To¥ 0
v

hg

10.6

1.6

5

69.8
71.4
91

51.6 9.2

122

7 Dia. Through

2 Places
11 Dia. Through Approx. 95
4 Places

L T T
<~ \ 3 Dia. Approx. Mass......... 54kg

Two Locating Pins Approx. Mass:-+-- 4.6 kg For other dimensions, refer to “MCP-04" in the drawing

left.

M List of Seals

MCP-04 MCT-04

Item | Name of Parts Part Numbers Qty.
6 O-Ring OR NBR-90 P22-N 4
7 O-Ring OR NBR-90 P21-N 1
8 O-Ring OR NBR-90 P9-N 2

F-84 04 Series Modular Valves



IPiIot Operated Check Modular Valves

M Specifications
Max. Operating Pressure Max. Flow
Model Numbers MPa L/min
MP * —04— % —10 35 300
M Model Number Designation
MPA -04 -2 -10
Series Number Valve Size Cracking Pressure |~ Design
MPa Number 1 u 0
MPA: For A-Line ' SOOIV o g =
- ON| - LK | o N\
MPB: For B-Line } Pilot Operated | g, 2:02 10 E&\\\\L»gs-._amm
MPW: For A&B-Lines o
M Typical Performance Characteristics (NRVIEE I
Hydraulic Fluid: Viscosity 35 mm?/s, Specific Gravity 0.850
Pressure Drop Pressure Drop for Reversed Controlled Flow
o5 L 10
g ‘ 2 08 Graphic Symbols
8 20['ALine: MPB o =
A T ?ﬁ o2
2 g 3
£ 10 b £ 04 E[ £
MPa
MPa ;- 02 / P TYXB A
| P&T-Lines v MPA-04

0 50 100150 200 250 300

050 100 150200 250 300

Flow Rate L/min Flow Rate L/min r* — ‘
. . K
Pressure Drop for Free Flow Min. Pilot Pressure Ll |
2.5 T 1 PP P1 P TYXB A
g 20 WP :-04-4 5 o MPB-04
g 2 = _
g 15 i@ ) <, e Zall m
2 . A o T g
§ ‘é MP *-04-4 ‘ [E' Ea
£ 10 g 4 /MP*-O4-2 Ll
MPa = |~ P TYXB A
0.5 3
NP -042 = ) = MPW-04
L L | .
0" 50 100 150 200 250 300 25
Flow Rate L/min
MPa 1
0 5 10 15 20 25 30 35
Supply Pressure (P2) MPa
MPA-04 120 M List of Seals
101.6 9.2
MPB-04 o L8 MPA-04
MPW-04 ; MPB-04

MPW-04

Approx. 95

I
11 Dia. Through 7 Dia. Through
4 Places 2 Places

TTe=T1)

~ 3 Dia.
Two Locating Pins

Approx. Mass......... 73 kg

@MPB-04: The Check Valve is assembled on the right side.
@MPW-04: The Check Valve is assembled on the both sides.

Item |Name of Parts Part Numbers Qty.
10 O-Ring OR NBR-90 P26-N 2
11 O-Ring OR NBR-90 P22-N
12 O-Ring OR NBR-90 P9-N

F-85



IMounting Bolt Kits For Modular Valves

Valves are mounted with six stud bolts (M6x2, M10x4). Valve combination
varies according to the circuit type. Hence, the mounting bolt kits are available

on a combination type basis. When ordering the mounting bolt kit, be sure to
give the bolt kit model number from the table below. g&

Il Model Number Designation

MBK -04 -01 -10
Serics Number Size of Modular — Seie @Bolt Kit Composition

erie: €] Valve o €] N M6 Stud Bolt .................. 2 Pcs.
MO6Nut ..oooiiiiiii 2 Pcs. | Set
e

MBK: Mounting Bolt Kits for o (Re‘f’;’tg’-:ﬂ:’::élg:t 10 MI10 Stud Bolt.................. 4 Ps.

Modular Valves MIONuUt ..ot 4 Pcs.

chart below)

@Tightening Torque

. . M6 .. 12-15 Nm
M Bolt Kits Selection Chart Mo 4555 Nm
. ity it Vil 0 b Sias 6 Approx. Mass  Solenoid Controlled Pilot
Bolt Kit Model  ["g 1" Cont. Pilot Operated N iliib (1 set) Operated Directional Valve =i = MI10 Nut
Numbers Directional Valves Valve kg ‘ ‘ ‘ M6 Nut
o i M10 Stud Bolt S =
(DSHG-04, 52Design) Thread length on the &Jiik = MIO Nut Mounting
MBK-04-01-10 1 1 0.6 nut side: 23mm / M6 Bolt Kits
Stud Bolt
MBK-04-02-10 1 2 0.8 HH f %4 MI10
! i ! Stud Bolt
MBK-04-03-10 1 3 1.0 (S
e 7S
MBK-04-04-10 1 4 12 M6 Stud Bolt I
Thread Length: 12mm i ‘ 1 .
| yarx | 04 Series
i ‘ i Modular Valves
Ss=l @
Nl
5 ¥
M10 Stud Bolt
Thread length on the mounting side: 17mm StaCking Example
MBK-04
@Stud Bolt
M6 M10
A I A |
12 12 . 17 23

‘ ‘

EE——T3 1 |
%/ ry 2-M10

Model Numb '4/ Note: M10 stud bolt, use the shorter side of screw part
o M6 M10 to the mounting surface side, the longer side to
the nut side.
MBK-04-01-10 125 140 About more details, refer to the stacking example
MBK-04-02-10 195 210 of the 04 series modular valves.
MBK-04-03-10 265 280
MBK-04-04-10 335 350
ONut
M6 M10 32
5 8 5 24
5
M10

F-86 04 Series Modular Valves



— Mounting Surface Dimensions for 04 Series Modular Valve —

When mounting 04 series modular valve, be sure to use a sub-plate for 1/2 solenoid controlled pilot operated

directional valves

Name Model Numbers Page
Sub-plate for 1/2 Solenoid
Controlled Pilot Operated DHGM-04 * =20 F-108

Directional Valves

Also, when no sub-plates are used, be sure to use the following mounting surface.

130
M6 Thd. 13 Deep
101.6 2 Places
88.1 17.5 Dia. Through (Max.)
4 Places
76.7
65.8 3.6 Dia. Through 5 Deep
2 Places
50
M10 Thd. 18 Deep 6 Dia. Through
4 Places 34 3 Places
18.3
©
- >v7/ /4777 7;;/ 2
/ 2

. S BERIPY e
S 0 - \ - T &
:8 < % -
£ g Y| @18 N —
58 5 2 7 °l o
S5/~ © ? A/ B
55 RYVARE'Y ,
&g %
2 S @
E Q i //MZL%/QL// N

Note:

Anmarbl (7273)495-231
AHrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTtpaxaHb (8512)99-46-04
Bapnayn (3852)73-04-60
Benropopg (4722)40-23-64
BnaroBeweHck (4162)22-76-07
BpsHck (4832)59-03-52
BnaausocTok (423)249-28-31
BnapaukaBka3 (8672)28-90-48
Bnaaumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHOypr (343)384-55-89
UBaHoBoO (4932)77-34-06
WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48

Poccus +7(495)268-04-70

Pf/‘

ﬁﬁ

o S,

+ D

The mounting surface of shaded parts above has a good machined finish. (1)

Mo Bonpocam npoaax u nopaepKku obpallanTech:

KanunuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
KypraH (3522)50-90-47
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81
MarHuTtoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

Ha6epexHblie YenHbl (8552)20-53-41

HwxHuin HoBropop, (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocunbupck (383)227-86-73
Hosbpbcek (3496)41-32-12

KasaxcTau +7(7172)727-132

Owmck (3812)21-46-40

Open (4862)44-53-42

OpeH6ypr (3532)37-68-04
MeHsa (8412)22-31-16

Mepmb (342)205-81-47
MeTpo3aBoack (8142)55-98-37
MNckoB. (8112)59-10-37
PocToB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkr-lNeTepbypr (812)309-46-40
CapaHck (8342)22-96-24
CaparoB (845)249-38-78
CeBacTononb (8692)22-31-93
Cumdpepononsb (3652)67-13-56
CmoneHck (4812)29-41-54

Coun (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35

yne@nt-rt.ru || https://yuken.nt-rt.ru

CbIKTbIBKap (8212)25-95-17
Tamb6oB (4752)50-40-97
TBepb (4822)63-31-35
TonbaTTH (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnaH-Yp3 (3012)59-97-51
YnbsaHOBCK (8422)24-23-59
Yda (347)229-48-12
XabapoBck (4212)92-98-04
Yeb6okcaphbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenogewy (8202)49-02-64
Yura (3022)38-34-83
AxkyTtck (4112)23-90-97
fApocnaenb (4852)69-52-93

Kupruaus +996(312)96-26-47



